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Enrollment No: Exam Seat No :

C.U. SHAH UNIVERSITY

Winter Examination-2018

Subject Name : Industrial Engineering
Subject Code : 2TEO41EN1 Branch: Diploma (Mechanical)
Semester : 4 Date : 02/11/2018 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) Standard time as compared to normal time is

(A). Greater (B). Smaller (C).Equal (D). None of these
b) C.P.Mis

(A). Critical Path (B). Critical process  (C). Both Aand B (A). None of these

method method

c) Bar chart is suitable for

A minor work B major work C large project D all of these
d) What does symbol ‘D" imply in work study?

(A). Operation (B). Delay (C). Stop (D) None of these
e) What does symbol 'O’ imply in work study?

(A). Operation (B). Inspection (C).Delay/temporary (D). Transport
storage

f) Father of time study is
A) F.W. Taylor B) H.L. Gantt C) F.B. Gilbert D) R.M. Barnes
g) Basic tool in work study is
A) Graph paper B) Process chart C) Planning chart D) Stop watch
h) Which chart is used for micro motion study?
(A). Outline process  (B). SIMO chart (C). Flow process chart (D). Man-machine chart

chart
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i) PERT analysis is based on

(A).Optimistic time  (B).Pessimistic time  (c).Most likely time (D). All of the above
j) The average time recorded by work study man for an operation is called

(A). Standard time (B). Normal time (C). Representative time (D) None of these
k) Which of the following wage incentive plan is applied to all workers?

(A).Halsey plan (B). Gantt plan (C). Emerson’s efficiency (D). Rowan plan
plan

I) A diagram showing the path followed by men and materials while performing a task is known as

(A). flow diagram (B). string diagram (C). travel chart (D).operation process
chart

m’ What is standard time?

(A). Basic time + (B). Work content  (C). Rating + (D). Observe time +
allowance + other allowance  allowance allowance

n) What is productivity?

(A).Input / Output (B).Output / input (C).BothA & B (D).None of The Above

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-5

Q-7

1)
2)

1)
2)

1)
2)

1)
2)

1)
2)

1)
2)

Attempt all questions

Define work study and explain its procedure

Explain the term productivity. State the factors influencing productivity and explain any two in
brief.

Attempt all questions
Explain O.P.C. with various symbols.
Define the “THERBLIG’. Give symbols of any five THERBLIG.

Attempt all questions
Explain the term ‘Rating’ and state its importance in time study.
Explain with neat sketches various types of stop watches used for “time study”.

Attempt all questions
Write Differentiate between product layout and process layout
Explain p- chart in detail.

Attempt all questions
Explain briefly normal working area and maximum working area.
Explain Kaizen and JIT in brief.

Attempt all questions
List various factors affecting the reliability
Define ergonomics and explain its objectives

Attempt all questions
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Q-1

1)
2)

f)

9)

h)

List seven important features of 1.S.0. 1990.
State the role of industrial engineer in industrial.
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Q-2

Q-3

Q-4

Q-5

1)
2)

1)
2)

1)
2)

1)
2)
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Q-6

Q-7

Q-8

1)
2)

1)
2)

1)
2)
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Kaizen Wl JIT Aot
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